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\begin{pspicture}(-5.0,-2.5)(5.0,3.5)

\uput [-90] (4.9,-0.1){$x$} \uput[0] (0.05,2.6){$y$}
\uput[0] (-0.5,0.666666){$\scriptstyle 1$}

\uput [0] (-0.5,1.333333) {$\scriptstyle 2%}

\uput [0] (-0.5,2.0){$\scriptstyle 3$}

\uput [0] (0.0,-0.666666) {$\scriptstyle -1$}

\uput [0] (0.0,-1.333336) {$\scriptstyle -2$}

\uput [0] (0.0,-2.0){$\scriptstyle -3$}

\uput [-90] (4.3,-0.05) {${\scriptstyle2}\pi$}

\uput [90] (3.45,-0.05) {$\frac{3\pi}{2}$2}

\uput [-90] (2.1,-0.05){$\pis$}

\uput [90] (1.25,-0.05) {$\frac{\pi}t{2}$}

\uput [90] (-4.35,-0.01) {${\scriptstyle-2}\pi$}

\uput [-90] (-3.55,-0.01) {${\scriptstyle-F\frac{3\pi{2}$}
\uput [90] (-2.2,-0.01){${\scriptstyle-F\pi$}

\uput [-90] (-1.35,-0.01) {${\scriptstyle-}\frac{\pi}{2}$}

\psset{algebraic=true, unit=0.666667, labelFontSize={\footnotesize}, linewidth=0.1pt}
\psline[linestyle=dashed, dash=3pt 2pt] (-4.712389,-3.5) (-4.712389,3.5)
\psline[linestyle=dashed, dash=3pt 2pt] (-\psPiH,-3.5) (-\psPiH,3.5)
\psline[linestyle=dashed, dash=3pt 2pt] (\psPiH,-3.5) (\psPiH,3.5)
\psline[linestyle=dashed, dash=3pt 2pt](4.712389,-3.5) (4.712389,3.5)

\psplot[linewidth=1.0pt,linecolor=red]{-6.5}{-5.0}{sin(x)/cos(x)}
\psplot[linewidth=1.0pt,linecolor=red]{-4.425}{-1.858}{sin(x)/cos(x)}
\psplot[linewidth=1.0pt,linecolor=red]{-1.283}{1.283}{sin(x)/cos(x)}
\psplot[linewidth=1.0pt,linecolor=red]{1.858}{4.425}{sin(x)/cos(x)}
\psplot[linewidth=1.0pt,linecolor=red]{5.0}{6.5}{sin(x)/cos(x)}

\psaxes[labels=none, dx=\psPiH, xunit=\psPi, arrowscale=1.5, labelsep=3pt,%
showorigin=false, ticksize=-3pt 0]{->}(0,0)(2.3,4.0)
\psaxes[labels=none, dx=\psPiH, xunit=\psPi, arrowscale=1.5, labelsep=3pt,%



showorigin=false, ticksize=0 3pt](0,0)(-2.3,-3.5)
\end{pspicture}



